1) Use these digit .cards to find three possible answers, then
order them [rom smallest to largest.
eThe digit in the hundred thousand column and the digit in the
thousands column are odd ruwmbers .and hove .o difference of 2.
-Thzdxgxtmihem,ﬂwmmwmandﬂwxﬂgdmﬂwom
column have a difference of 7.

eThe number is greater than > 1 IEI 0f|3 7
4,000,000.

2) Amina thinks the largest possible missing numhber w.ould he
7,000.

4,587,308 + 400,000 > 4,980,308 +7
Do AJOAL ,a,g,r,e.e? E»cha,Ln Jw,h.g

3)BJAIWJ;MAJ#WMLAMC. C is half way hetween B
and D.

A C D

I I I
4,250,000 . 5,750,000 7

What are the values of B and D?
L) George orders these numhbers from smallest to largest.
564,039 560,439 506,439 564,309

5) Put these .numbhers in .order, from smallest to largest.
a) 3-3, 303, 3-33, 3-303, 3-:033
h) 5834, 6I-8 multiplied by 100, .one tenth of 45813
<) 0-034, 3-6 divided by 100, ten times 0-0033
Ad) bl ~bebhly, ~4.0k, 4404

Eduwardo says, ‘The population of Mexico City is |l million (to the
nearest million) .and the population of New York is 11-2 million (to
the nearest hundred thousand).” He says, ‘The population of New
York must bhe bigger than the population of Mexico City bhecouse
[1-:2 million is higger than |l million.” Do you agree with him?




